

CORRECTION

$y = 2$

$t = 3$

$k = 5$

$s = 10$

$n = 0$

$p = 1$

$$\begin{aligned} A &= y \times k \\ &= 2 \times 5 \\ &= 10 \\ \text{Rouge} \end{aligned}$$

$$\begin{aligned} B &= 4 \times t - (y + s) \\ &= 4 \times 3 - (2 + 10) \\ &= 4 \times 3 - 12 \\ &= 12 - 12 \\ &= 0 \\ \text{Blanc} \end{aligned}$$

$$\begin{aligned} C &= s - t + 14 \times n \\ &= 10 - 3 + 14 \times 0 \\ &= 10 - 3 \\ &= 7 \\ \text{Noir} \end{aligned}$$

$$\begin{aligned} D &= s + y \times t - p \\ &= 10 + 2 \times 3 - 1 \\ &= 10 + 6 - 1 \\ &= 15 \\ \text{Rose} \end{aligned}$$

$$\begin{aligned} E &= k^2 \\ &= 5^2 \\ &= 5 \times 5 \\ &= 25 \\ \text{Orange} \end{aligned}$$

$$\begin{aligned} F &= t^2 - y^2 \\ &= 3^2 - 2^2 \\ &= 9 - 4 \\ &= 5 \\ \text{Noir} \end{aligned}$$

$$\begin{aligned} G &= 4 \times k - t \times y \\ &= 4 \times 5 - 3 \times 2 \\ &= 20 - 6 \\ &= 14 \\ \text{Jaune} \end{aligned}$$

$$\begin{aligned} H &= 4 \times (k - p) - y \\ &= 4 \times (5 - 1) - 2 \\ &= 4 \times 4 - 2 \\ &= 16 - 2 \\ &= 14 \\ \text{Jaune} \end{aligned}$$

$$\begin{aligned} I &= k \times (6 - y) \\ &= 5 \times (6 - 2) \\ &= 5 \times 4 \\ &= 20 \\ \text{Orange} \end{aligned}$$

